Combining ratios and fractions
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[ Ernie, Frank and Gina share some money in the following ratios. What fraction of the money does Ernie get? )
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FINATNE FAtio @ Cift e :

a) Theratioof a:bis4:3
and theratioof b:cis1:5 415

b) Theratioofa:bis4:7
and theratioof b:cis2:5 835

c)Theratioofa:bis5:2
and theratioof b:cis6:11 15 11

d) Theratioofa:bis3:4

and theratioof b:cis5:9 1536
o PP PP Y,
N
In each case, there are 6000 buttons in the colours blue, red and green.
f) The ratio of red : blueis4:1 ‘ 3
and the ratio of blue: greenis3:5 —_—
What fraction of the buttons are blue? 2 0
&) The ratio of red : blue is 5 : 3 : 10 1 ...........................................
and the ratio of blue:greenis2:8 -
What fraction of the buttons are red? 4_0 4_
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;=] Exam question:

The ratio of cows to sheep is 8:3

The ratio of sheep to pigs is 2:5

What fraction of all the animals are cows?
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